Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 512 15.2 0.3906
Paper clip {long dim.) 1% 3.3 0.3977
Paper clip (short dim.} = 0.8 0.3906
Pen (length) 5E 136 0.3952
Phone 3%@ 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . .. ' (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter /inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).
Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and iz centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 51—12 15.2 0.3906
Paper clip (long dim.) i 3.3 0.3977
Paper clip (short dim.) = 0.8 0.3906
Pen (length) 5-]6E 13.6 0.3952
Phone 3%—8 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
nurnber that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . .. {2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2}, you get
centimeter/inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when vou try to find eut how many inches there are in a centimeter (which would

be 0.39).
Please help Daniel and Liana figure out why they can’t agree.

-
5\»}" 13 t\:.:j“\e 2

e

)
™ e,
Al
-
i
L3

Mﬁjéaw L égzh,mi;s_ﬂ
‘ugh““”w
"‘QJ“{XJQ @)’“

A
Bt 1
4 :

"‘ J‘/-a.‘ -2
{f} N
e Y 2 S

i
N
-5

Eglﬁi&iﬂw F Cfcéﬁ,ﬁi&%%@— g
H




Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book {long dimension) 9 22.8 0.3047
Book (short dimension) 5i2 15.2 0.3906
Paper clip (long dim.) 1]—gi 3.3 0.3977
Paper clip (short dim.) £ 0.8 0.3906
Pen (length) 5—16? 13.6 0.3952
Phone 3%—?5 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. {2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter /inch = 2.54. (3
He added, “2.54 is the number of cenfimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter {which would

be (1.39).
Flease help Dandel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book {long dimension) 9 22.8 0.3947
Back (short dimension) 513 15.2 0.3906
Paper clip {long dim.) 1£ 3.3 0.3977
Paper clip {short dim.) £ 0.8 0.3906
Pen (length) 5E 13.6 0.3952
Phone 3%2 9.1 {1.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to (.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. 2)
He also said that 1/{2.54) = 0.393701, so if you invert both sides of {2}, you get
centimeter/inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so {3} is right, becau.se

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).

Please help Daniel and Liano figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3047
Book (short dimension) 512 15.2 0.3506
Paper clip (long dim.) 135‘? 3.3 0.3977
Paper clip (short dim.) k4 0.8 0.3906
Pen (length) 5E 13.6 0.3952
Phone 3%% 91 0.3584

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

. She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . .. (2)
He also said that 1/{2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter /inch = 2.54. (3
He added, #2.54 is the number of centimeters per inch, so {3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when vou try to find out how many inches there are in a centimeter (which would

be 0.39).
Please help Daniel and Liana figure out why they con’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object ~ inches centimeters in./cm.
Book {long dimension) 9 22.8 0.3947
Book {short dimension) 518 15.2 0.3906 -
Paper clip (long dim.) 1—1561 3.3 0.3977
Paper clip (short dim.) ki 0.8 0.3906
Pen (length) 5E 13.6 0.3952
Phone 3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the ;:orrect value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. {2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter /inch = 2.54. (3)
He added, #2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).
Please help Daniel and Liana figure out why they can’® agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Bock (long dimension) 9 22.8 0.3947
Book (short dimension) 512 15.2 0.3906
Paper clip {long dim.) 1E 3.3 0.3977
Paper clip {short dim.) 5 0.8 0.3906
Pen (length) SE 13.6 0.3952
Phone 3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter /inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so {3} is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter {which would

be 0.39).
Please help Doniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 512 152 0.3906
Paper clip (long dim.) 1E 3.3 0.3977
Paper clip (short dim.) k4 0.8 0.3906
Pen (length) 5—]5-6i 13.6 0.3952
Phone 3§ 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. {1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter/inch = 2.54, (3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54,

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when vou try to find out how many inches there are in a centimeter (which would

be 0.39}.
Please help Daniel and Liana figure out why they can't agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 5i2 15.2 0.3906
Paper clip (long dim.) 1—}5—'6i 3.3 0.3977
Paper clip (short dim.) 2 0.8 0.3906
Pen (length) SE 13.6 0.3952
Phone 3$ 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both
sides by centimeters, we get:

inch/centimeter = 2.54. _ (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is
A R B i

inches/centlmeters = 0.39. . .. (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter /inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of_centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).
Please help Daniel and Liana figure out why they can't agree.

: 4 .
Dﬁ’wfuﬂf el Lig, A E s 1
St h e, 24 b/,i/ﬁ-{ i Agg, Il f,« gy

' I
LAt g

Cf} . “-g;‘ Aﬂ,}qm; 4 “{,’J},”F"’ (3(? f; s &Y‘ wa “:ﬂ i ?L 7!'/

l S B ' T el Wi/ éﬁfﬁ;f o> / J
re 2 ' AADy ”“7 Tt N o 1y Dol
e ' QULA‘Q/&\J"T Q&,_/ /‘/*fza Ly E,ﬂuj}
. ¥ \\

KIC{/W\._ 3 ~ . w I
AR V2RV ;Y DEN I A NP 25 inc ond

y . H = ) . .
PYe sunt Ny DA \%[Mv\. @Mg) Do Odata,

.
T clars Py oo

& /‘v’{f CI/?:; (:,é(’?«’;‘ oy M -~
b LA LA el M8 !
N us Ut Ny g, )“Jr % LN f'*( i dgs hady
- 4 e,y AT i . "
» A ‘“”“i{} G gl bt Ve /
T A O B N apy Lo L ledigns
sl e . e - )

¥

(il




Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book {long dimension) 9 22.8 0.3947
Book {short dimension) 513 15.2 0.3906
Paper clip (long dim.) 1% 3.3 0.3977
Paper clip (short dim.) = 0.8 0.3906
Pen (length) 5E 13.8 0.3952
Phone 3% 9.1 0.3984

" He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54, (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.... {2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), yvou get
centimeter /inch = 2.54. {3
He é.dded, “2.54 ia the number of centimeters per inch, so {3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when vou try to find out how many inches there are in a centimeter (which wouid

be 0.39).

Please help Daniel and Liana figure out 'why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 548 15.2 0.3906
Paper clip (long dim.) 1-]£ 3.3 0.3977
Paper clip (short dim.) k4 0.8 0.3906
Pen (length) 51—ﬁﬁi 13.8 0.3952
Phone 3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, hecatse the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. {1

She also said, “Axn inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39. . .. (2)

He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter /inch = 2.54. {3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would
be 0.39).

Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 518 152 0.3906
- Paper clip (long dim.) 1% 3.3 0.3977
Paper clip (short dim.) 2 0.8 0.3906
Pen (length) 58 136 0.3952
Phone 3;@ 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of {2), you get |
centimeter /inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would
be 0.39).

Please help Daniel and Liana figure out why they can't agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Bock {(short dimension) 518 15.2 0.3906
Paper clip {long dim.) 1£ 3.3 0.3977
Paper clip {short dim.} ot 0.8 0.3806
Pen (length) 5~]§- 13.6 0.3952
Phone 3%8 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both
sides by centimeters, we get:
inch/centimeter = 2.54, (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
pumber that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. (2)
He also said that 1/{2.54) = 0.393701, so if you invert both sides of (2}, you get
.centimeter/inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter {which would
be 0.39).

Please help Daniel and Liona figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did if. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 515 152 0.3906
Paper clip (long dim.) lg 33 0.3977
Paper clip (short dim.) = 0.8 0.3906
Pen (length) 55 13.6  0.3952
Fhone 3i—§ 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54, 1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.... (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2}, you get

centimeter/inch = 2.54. (3)

He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how marny inches there are in a centimeter (whick would
be 0.39).

Please help Dandel end Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book {short dimension) 53 15.2 0.3906
Paper clip (long dim.) 1~~]5E 3.3 0.3977
Paper clip (short dim.) ¥ 0.8 (.3906
Pen (length) 5165 i3.6 (1.3952
Phone 3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. (2)
He also said that 1/{2.54) = 0.393701, so if you invert both sides of {2}, you get
centimeter/inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter {which would

be 0.39).
FPlease help Daniel and Liona figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 532 15.2 0.3906
Paper clip {long dim.) 1E 3.3 0.3977
Paper clip {short dim.) k-t 0.8 0.3906
Pen (length)} 5E 13.6 0.3952
Phone 3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . .. {2}
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter/inch = 2.54. . (3)
He added, “2.54 is the number of centimeters per inch, so (3} is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).
Please help Daniel and Liane figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book {long dimension) 9 22.8 0.3947
Book (short dimension) 512 15.2 0.3906
Paper clip (long dim.) 1}5 3.3 0.3977
Paper clip (short dim.) k3 0.8 0.3906
Pen (length) 516E 13.6 0.3952
Phone 3% 9.1 (.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . .. (2)
He also said that 1/(2.54) = 0.393701, so if vou invert both sides of (2), you get
centimeter /inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would
be 0.39).

Please help Doniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 512 15.2 0.3906
Paper clip (long dim.) 1E 3.3 0.3977
Paper clip (short dim.) it 0.8 0.3906
Pen (length) 5E 13.6 0.3952
Phone 3%@ 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = (.39. . .. (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get LN 2 Lgé,,f oPn
‘ A 7

centimeter/inch = 2.54. ‘ T e ”1,7 ) {3)

254N Lo

He added, “2.54 is the number of centimeters per inch, so {3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (whlch would

be 0.39). Curdneng RS g osuiad 9 Gn wnia
Please help Daniel and Liana figure out why they can’t agree. <
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